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The bus journey from Uptow LT T
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o A group ol people went on o hike ar 135

%‘%\ﬁr They completed the hike ot 5:20. ;
AT How long did the hike last? 3hry 45,00

A programme on TV started ot 3:38 and finished at 5:32,

How long did the programme Lose? ] Ay S st

Wiite the time that is 2 hours 28 minutes Later than 3:47. E_LE‘
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A train left Sligo for Dublin at 2;3}:
The journey took 3 hours and 28 minutes. S
At what time did the troin arrive in Dublin® &-a |
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Paul watched TV from 1:37 1o 5:23% one after naon,
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1. The sum of two numbers is 9&
If one number is 68, what is
the ather? EE_

. 6242 % 100 = b, A2
. From 16 toke 17 |I+3~,
e H = 77

. Write the smallest number that
can be made using all these digits
6903 (369 or 361

. Increase a ‘width of
9m by S0cm, 9. Spa

& oy A e

|
3 ol el
g =

8. How many foces has a cuboid? &

9. Draw the rellection
af this:

+50 +50

. 125,175,225, 95, 315, 415
. Circle the odd one out. 1

. In a class of 32,
hawe many childran
have blonde hair? _§

. A bicycle cost €150. 1 had ESh-40
saved and Mum gove me £25-60.
How much mare | need to buy the
bicycle? €48

. Teacher lives 13km from school.
How far does he travel to and from
school each week? 1308RL

_ At school, the children have o
10-minute break in the morning and
a 30-minute break at luncn. How
many hours and minutes break do

the children have in a week? 3hrs Xk

Dan hos €2°55. Rob hos 3 times as

Thursday

1. What number is greater

tham 54 by 327 8{1
2. How much more is

€220 than €1-507 ﬂ}c
3.0 10«8 -12=068

6. What type of angle
s this? glous € e
7. John spent g— of nis money 7'1 =£9
and hod €18 left, How much
mongy nad he at first? {ﬁll
7
8. ?_'13‘ |5
9. How many centimetres shart
af Tam s 50cm? FH0era
10. 42 + 05 = G
11, How many hours and minutes are

there fram E" o ]."1[|_'?
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. The width of a rectangle is Scm. §
Its perimeter is 26em, What is the

length of the rectangle? R,

A 36k ©

a5 Dan ond Matt has €1:50
than Dan How mufh kave Lhe
s altogether? £ 445

T

2-B&km 11em

Adkm 560m

What is the distance from
Town A to Town D? . Qakna

. How much short of 10km is the
distarce from Town & to Town D

103k,

. How much nearer is Town C to
Town A than to Tawn D2 O:Jkne

. A bus travels from Town A 1o
Town € ond back & times each doy.
What is the totaol distance the bus
trovels each doy? Sh-3fknt
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i 7. 1f 3 litres of milk cost €270, 8 €415 + €555 = £H4F0

what is the price of 2 litres?£,|-&0 )
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John wrote down a number e 100 (00 M
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14. If | put o wooden fence around
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- the qarden costing €40 per metre,
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Written ( omputation

i (a) (h)
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25 1 45
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18. Time

Mentol Computation

1. Write the time shown on each clock
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2. Write the time shown an each clock in Question 1 as digital time
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4. Write in digital form the times that are 20 minutes earlier
thon the fallowing tlimes.
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5. Write the time shown on each clock in digital form.
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